I— A B D | E | F G H I J
I~ (4) Mounting Holes >
] © for M6 [1/4"] Screws. p T
o, 63.5[2.50] 65 [2.56] o Cooling fan location -
© ~ ‘E ©
| {7 = Air ™
— [ A
=[N 5 | \L o
— - — LN i
=| Keypad | ; AL Nameplate i I et
< [To Y =
2 = 2|2
8 B & e~ T —l
T & 1 | 13
| =N = — -
- (% =3 ~ L. &HHEHJJJ = N
(4) Mounting Holes \—y—/ 3 E P ﬁﬂ 10 3
3| for M5 [#10] Screws ‘ =2 S o ™ ©
— | I
il \ i3 %
i ‘o_'_a' z —
- | S
: S
| o )
4 - i o LF
Air%
27 [1.06] 192 [7.56] 27 [1.06]
_ HORIZONTAL MTG DIM HORIZONTAL MTG DIM HORIZONTAL MTG DIM 15 [006] 246 [969]
5 220 [8.66]
6
N &
=<
[(e}
=}
7
C/C: INPUT VOLTAGE | WEIGHT | COOLING
210 [8.27] GA80D 3-PHASE (VAC) Kg (Ib) FANS
‘ 4060000 380 TO 480 13 (28.6) 2
B 258 [10.16] = denotes A-Z
8 @ —1 |DRWN.]|J. MATTAS 4-519 [TITLE SIZE A ‘PAGE 10F3 |REV
2 | CORRECTED DIMS P1 YASI(AWA —I |cHKD. | J. PIOTROWSKI |5-6-19 GA800 DIMENSION DRAWING [5G NO. 5
1 | REVISED MOUNTING BKTS P2 UNITS MM [IN] [ TECH. |L. UDDIN 5-20-19 FRAME SIZE 3.5
o [INITIAL RELEASE SCALE 16 |2PRV 11 CARO 51319 | BACKSIDE TYPE 12 ENcLOSURE | DD.GA80.FR3.5.FLNG




I— A B c D E G H J
38.6 [1.52]
1
EMC Filter
Switch
(EMC Only) - Refer to DD.GA80.TERMBOARD
— % drawing for terminal board details
Base Point of )
Terminal Board =i
2 1
Main Terminals
| = Main Terminals with M4 Screws:Slot(-) =
g with M5 Screws = g
= £ Slot(-) A~
< ~ § Oz o o R i m = ~
@, - o -
3 m EHI 5/12 T3 B B2|[W/T V/T2 W/T3) A
o ! ©
o m — il
/I | ] 01
— @% 5 |
g @,,@ ﬂ@f@ >
| — L R
T J‘u
4 S 24.910.98] Grounding Terminals — I T
i — with M6 Screws 3 2
© 4xP15=60 [236] PhllllpS(+)/S|0t(-) combo % © ©
N IR
84.5[3.33] 23[0.91]
[
] 114.1 [4.49] 10.2 [0.40]
137.4 [5.41] ‘ 2xP15=30 [1.18]
T
6
°
— — ) | m
| | Sl Mg c/c: TERMINAL WIRE RANGE | TERMINAL | CLAMPING TORQUE
g8 32 Flo~ = £ @ £ GA8OD SYMBOL AWG (mm) SCREW N.m. (Ib.in.)
w,|E o |E 2158 o E Q|E 4060000 RIL1, SIL2, TIL3 8-2(10 - 35) M5 4.1-4.5 (36 - 40)
7 N E ©|2 SIS€ Nk T |2 UIT1, VIT2, WIT3 8-2(10 - 35) M5 4.1-45 (36 - 40)
5o 9+ = 8% o 2 =~ - +1 8-2(10 - 35) M5 4.1-4.5 (36 - 40)
= == oL = B1, B2 14-6 (2.5 - 16) M4 15-1.7 (135 - 15)
@ 8-4 (10 - 25) M6 54-6.0 (47.8 - 53.1)
] o Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
s — DRWN. | J. MATTAS 4-5-19 TITLE SIZE A ‘PAGE 20F3 REV
2 | CORRECTED DIMS P1 YASKAWA —J CHKD. | J. PIOTROWSKI 5-6-19 GA800 DIMENSION DRAWING DWG.NO. o
1 | REVISED MOUNTING BKTS P2 UNITS MM [IN] | TECH. |L. UDDIN 5-20-19 FRAME SIZE 3.5
o [INITIAL RELEASE SCALE 15 |2PRV 11 CARO 51319 | BACKSIDE TYPE 12 ENcLOSURE | DD.GA80.FR3.5.FLNG




(4) - M6 [1/4"
Threaded Hole "A"

Panel Cutout

214 [8.43]
_ 192 [7.56]
[{e]
S
~ |
A / Al
| o
(4) - M5 [#10] 4 \ =
Threaded Hole "B" ‘ <
b | i
; | B
_ |
B “ \ =
o & i 1)
= 4 1,
5 cuTouT P
) \ ©
Add gasket |
as shown ‘
B ‘ B
S 7028 | =
A | <
, ‘ =
©
i ; S
A / A
= |
=3 192 [7.56]
[Te]
N
246 [9.69]
Notes:
Exposed heatsink minimum clearance D = 111 [4.37].
Refer to Type 12 heatsink external installation manual for additional details.
@ — DRWN. | J. MATTAS 4-5-19 TITLE SIZE A ‘PAGE 30F3 REV
2 | CORRECTED DIMS P1 YASI(AWA —JI | cHKD. |J. PIOTROWSKI |5-6-19 GA800 DIMENSION DRAWING [5G NO. 9
1 | REVISED MOUNTING BKTS P2 UNITS MM [IN] | TECH. |L. UDDIN 5-20-19 FRAME SIZE 3.5
o TINITIAL RELEASE SCALE 14 [2PRV. 11 GAIRO 51319 | BACKSIDE TYPE 12 ENcLOSURE | DD.GA80.FR3.5.FLNG




	Sheets and Views
	DD.GA80.FR3.5.FLNG-PAGE 1
	DD.GA80.FR3.5.FLNG-PAGE 2
	DD.GA80.FR3.5.FLNG-PAGE 3


